


 Enable input when low both outputs, A1 and A2, will always be low regards what the input state is for input A.

 When the Enable input is high output A1 will be the invert of Input and output A2 will be the same as the Input.





PIN_P2 → J6.1

PIN_N2 → J6.5

PIN_M4 → J6.2

PIN_N1 → J6.6

VIN = 3.3 VDC → J6.29 GND → J6.30



First, my circuit is not using a clock, why is this displaying the circuit as driven by a clock?
Second, note the voltage amplitude, 3.3 VDCIN is supplied.

Neither input is high yet and this is what’s outputting to the scope.



Another flaky output with neither input set to high yet.

Neither input is high yet and this is what’s outputting to the scope.



Input is high and the enable is low.  Strange outputs and output voltage magnitudes.



With the correct input and enable bit patterns this should be the output pattern.  Alternating
flip-flopping output states.  Not the case and note again the output amplitude.  Not sure
how this correct output came about for state-changes and has not been reproducible.


